
China is located in the South East Asia. With 14 land borders it is also home to 
both the Gobi desert and the Himalayan mountains. Its capital is Beijing but 
also has other large cities such as Shanghai and Hong Kong.

Key Term Definition 

Population The number of people living in a certain 
area.

Desert An area that receive less than 5cm of 
rainfall per year. 

Mountain A landform that has an altitude of more 
than 2000 ft. 

Fertility 
Rate

The average number of births per women. 

Life 
expectancy 

The average number years a person lives 
for in a certain area.

Rural An area with a low population often 
referred to as the countryside.

Urban An area with a high population often 
referred to as a city.

China is home to over a 
quarter of the world’s 
population, this mean one 
in four living people were 
born in China. This create 
huge challenge and 
opportunities for the 
country.

Population pyramids show data on both age and gender. 
China has an ageing population, there is a limited 
number of young people and a growing number of 
elderly people. Due to lower birth rates and better 
health care. The one child policy could be responsible 
for this. 

China is 
experiencing high 
levels of rural to 
urban migration. 
This is when 
people leave the 
countryside and 
move to the city. 
This is caused by 
higher wages and a 
better quality of 
life in urban areas 
(cities)

China is constantly struggling 
with poor quality air. Unhealthy 
air quality  was recoded in 
Beijing 49% of the time, with 
hazardous air recorded 4% of 
the time.
Over population and fewer 
restrictions on factory 
emissions results in China’s air 
pollution. 

China’s tourism industry is 
rapidly expanding. 
People visit China to experience 
the culture, architecture, food 
and natural landscape. 
People in China 
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Task… 
1. Describe the location of China/Russia 
2. Describe why people visit China/Russia. 
3. What is the size of China’s population. Explain 

the issues this causes. 
4. Explain the advantages and disadvantages of 

Russia’s size. 

Question: Assess the geographical issues faced by 
China/Russia. 

1.BUG the question by boxing the command word 
and underlining the content you need to write about.
2.List the key vocabulary you will use.
3.Create a plan of what you would write in 
each paragraph.
4.Practice writing your answer from memory.

Russia is located across 2 continents, Asia and Europe. It is the largest country 
on earth by size 17.08 million km², so big that is has 11 different time zones. It 
is bordered by 14 countries and 2 oceans. The capital of Russia is Moscow and is 
home to several different biomes. Including Tundra, temperate woodland and 
desert. 

Population 
distribution

Biomes in 
Russia

The different biomes in Russia determine the 
areas of the country that are inhabited – many of 
the coastal areas in the north are uninhabited 
due to the conditions being unsuitable. 

Russia’s tourism industry is 
rapidly expanding. 
People visit Russia for the 
cultural heritage of famous 
landmarks, such as Kremlin, 
Red Square and St. Basil’s 
cathedral in Moscow. As 
well as the diverse 
landscapes and the Trans-
Siberian railway. Tourists 
enjoy unique experiences, 
such as the traditional 
banya, the cuisine and 
cultural festivals.  
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